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Short division or long division?

Short division is used when Long division is used when
dividing numbers by a 1 digit dividing numbers by a larger
number number e.g. a 2 or 3 digit 019-6
number .
eg.9 5 .« 5 14 ?450
132'4 eg3 9 5 == 2 5 \l/
|
<+ 7 3 2 s 47 i g 2
It is called long division 0
151 because the calculation is 00 ?3 4 v

5| 725 5 extended down.
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How to teach long division

Long division success criteria

of the divisor!

275+14
| 14 2 7 5 In this case it is 14.
0
14 | 2 7 5 We cannot share 2 into 14 groups,
— so we put a 0 above the 2.
0 1
Now share 27 into 14 groups. There
14 | 2 7 5 would be 1 ineach group so place a
- 1 above the 27. Underneath the 27
1 4 write the number that was shared
into a group. (1 x 14 = 14).
0 1 To work out how many were
remaining and therefore carried
14 | 2 7 5 over, subtract 14 from 27. This is 13
— so write it underneath the 14 as
1 4 l you would in column subtraction.
Bring down the 5 ones.
1 3 5
0 1 9 )
MNext share 135 into 14 groups.
14 | 2 7 5 There would be 9 in each.group
—_— because 9 x 14 = 126. Write 126
1 4 underneath 135 and subtract it to
work out how many are carried
1 23\ 15 over, which is 9.
12 6
0 0 9

1. List the multiples

0 1 9 .6
1|2 7 5.0
———
1 4l
1 28 15
12 6
0 089 1p
8 4
0 6
0 1 9 .6 4
12 7 5 00
o
1 4l
128 &
12 6
0 089 1p
8 4
0 55. 10
5 6
0 6

Bring a second 0 down from the
hundredths place to make 60. Share
60 into 14 groups. 14 x4 = 56 s0 put
4 in the tenths column of the
answer. We only need to calculate 2
decimal places even though we have
a remainder of 6.
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Step 1: - List key multiplication facts for the divisor before you

start

16[8 9 5

divisgr

\

dividend

2x16 =32
3x16 =48
4 x 16 = 64
5x 16 =80
6 x 16 = 96
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Step 2 - Divide the first digit of the dividend

by the divisor

Long division success criteria
275718 4| 2 7 s

0

1. List the multiples
of the divisor!

In this case it is 14.

14 | 2 7 5 We cannot share 2 into 14 groups,

— 50 we put a 0 above the 2.

There

0 agroup. (1x14=14).

1 Next share 135 into 14 groups.
14 | 2 7 There would be 9 in each group
because 9 x 14 = 126. Write 126
1 4 underneath 135 and subtract it to
work out how many are carried

1 28, Is over, which is 9.

n

01 9

14|275
-

141

128 15

12 6

0 0 89

8

2x16
3x16
4 x16
5x 16
6 x16

October 07, 2021

32
48
64
80
96
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Step 3 - Divide the first 2 digits by the divisor

Long division success criteria

1. List the multiples
of the divisor!

275+ 14
| 14 2 7 5 In this case it is 14. 5
0
1 4 l
14| 2 7 s We cannot share 2 into 14 groups,
— 50 we put a 0 above the 2. 1 2& 15
- 12 6
0 099
4] 2 7 5 8
Bring a second 0 down from the
0 1 o work out how many were 0 1 9 4 Lundredths place to make 60. Share
remaining and therefore carried 60 into 14 groups. 14 x4 = 56 50 put
14 2 7 5 over, subtract 14 from 27. This is 13 14 | 2 7 5 0 4inthe tenths column of the
E—— so write it underneath the 14 as R answer. We only need to calculate 2
1 4 l you would in column subtraction. 1 4 1 decimal places even though we have
Bring down the 5 ones. —_— aremainder of 6.
13 5 185
0 12 6
1 9
Next share 135 into 14 groups. 0 0 °9
14 | 2 7 5 There would be 9 in each group g
- because 9 x 14 = 126. Write 126
1 4 underneath 135 and subtract it to 55 10
work out how many are carried 5 6
1 23 15 over, which is 9. e
12 6 o6

2x16
3x16
4 x16
5x 16
6 x 16

32
48
64
80
96
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Step 3 - work out what we have remaining

2x16

0 95
16|8 9 5 3% 16

0

9

32
48
64
80
96

4 x16
5x16
6x16

divisi ) ) 1. List the multiples
Long ivision success criteria of the divisor] 0 1 9
27514
‘ 14 2 7 5 In this case itis 14. |14 | 2 7 5
0 e
1 4 l
14 | 2 7 5 We cannot share 2 into 14 groups,
-~ s0 we put a 0 above the 2. 1R 5
12 6
0 1
Now share 27 into 14 groups. There 0 0 %9
| would be 1 ineach group so place a
14 .2 7. 5 1 above the 27. Underneath the 27 8
1 a write the number that was shared

into a group. (1 x 14 = 14).

ore
ried
his is 13
) the 14 as

ction.

0 1 9 o n 2o

Next share 135 into 14 groups.
14 | 5 7 5 There would be 9 in each graup g

— because 9 x 14 = 126. Write 126

1 a4 underneath 135 and subtract it to 55, 1o
work out how many are carried

1 23, 15 over, which is9. 5 6

12 6 06
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Step 4 - bring down the next digit of the
dividend

2x16
3x16

O
l 4 x16
5

32
48
64
80

5x 16

L divisi . 1. List the multiples 6 X 1 6 - 96
ong division success criteria of the divisor! 01 9
275+ 14
| 14 2 7 5 In this case it is 14. |14 | 2 7 5
0 R
1 4 l
14| 2 7 5 We cannot share 2 into 14 groups, [
— 50 we put a0 above the 2. 123 15
12 6
0 1 _
Now share 27 into 14 groups. There 0 0 59
14 | would be 1 in each group so place a
.ZJ 5 1 above the 27. Underneath the 27 8
1 4 write the number that was shared
into a group. (1x 14 = 14).
0 1 ut how many wer
SE— ining and therefore carried
is13
n.
— Next share 135 into 14 groups.
ul 2 7 s There would be 9 in each group 8
- because 9 x 14 = 126. Write 126
1 a underneath 135 and subtract it to 55 10
work out how many are carried 5 6
1 23 15 over, which is 9.
12 6 06
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Step 4 - Divide what is remaining by divisor
then work out what is left

2x16

3x16
4 x16

32
48
64

6x16 =96

L divisi L 1. List the multiples
ong division success criteria of the divisor!

2751+ 14 14| 2 7 5 In this case it is 14

0
14 | 2 7 5 We cannot share 2 into 14 groups,
e so we put a 0 above the 2,

0

Now share 27 into 14 groups. There

1
14 would be 1 in each group so place a
2 7 5 1 above the 27. Underneath the 27

g

1
0

write the number that was shared
intoa group. (1x14=14).

I

d in column subtraction.
wn the 5 ones
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Step 5

2x16 =32

0
3x16=48 1 6 8
3

4 x16 =64
5x16 =80
6x16=96
7x16 =112
8x16=128
9x 16 =144

L o 1. List the multiples
Long division success criteria of the divisor]
275+ 14 |
‘ 14 | 2 75 In this case it is 14. 14 | 5 7
0 T
14 | 2 7 5 We cannot share 2 into 14 groups, 4 6 O

P sowe put a 0 above the 2.

1
Now share 27 into 14 groups. There
14 | would be 1 in each group so place a
2.7 5 1 above the 27 Underneath the 27 8

write the number that was shared
into a group. (1 x 14 = 14).

Bring down the 5 ones.

19 Next share 135 into 14 graups. 0 029
14 | > 7 5 There would be 9 in each group g
- because 9 x 14 = 126. Write 126
1 a underneath 135 and subtract it to 55, 10
work out how many are carried s 6
1725 15 over, which is9.
12 6 06
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Step 6 Stop at 2
5 - 9 3 decimal

places

0
2x16 =32
3x16 =48 1 6 8
4 x16 =64
5x16=80 8
6x16=96

5
9
0
16112 9
38
1
1

8x16=128
9x16 =144

1. List the multiples

Long division success criteria of the divisor!

0

14 | 2 7 5 We cannot share 2 into 14 groups, 4
1
0 L

—_— so we put a0 above the 2.
Now share 27 into 14 groups. There

1
14 | would be 1 in each group so place
2 7 5 1 above the 27. Underneath the 27 8

—
write the number that was shared

14 into a group. (1x14 = 14).
Brin ond 0 down from the
0 1 To work out how many were 01 9 4 e e s
remaining and therefore carried
14 | 2 7 5 o act 14 from 27. This is 13 7 5
— s undern a
1 4 l y uld in column subtractio
Bring down the 5 ones
1 3 5
o159 Next share 135 into 14 groups. 0 0 °9
14 | 2 7 5 There would be  in each group 3
- because 8 x 14 = 126. Write 126
1 4 underneath 135 and subtract it to 55. 10
work out how many are carried
T 215 over, which is9. > 6
12 6 06
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1. List the multiples

Long division success criteria of the divisor]

275|T 14 14 | 2 7 In this case it is 14. 14 |

0
14 | 2 7 5 We cannot share 2 into 14 groups,
— so we put a 0 above the 2.
0 1
Now share 27 into 14 groups. There
14 | 2 7 5 would be 1 ineach group so placea
- 1 above the 27. Underneath the 27
1 4 write the number that was shared
into a group. (1x14 = 14).
0 1 To work out how many were
remaining and therefore carried
14 | 2 7 5 over, subtract 14 from 27. This is 13 14
— so write itunderneath the 14 as
1 4 I you would in column subtraction.
Bring down the 5 ones.
1 3 5
0 1 9 )
Next share 135 into 14 groups.
14 | 2 7 5 There would be 9 ineach group
— because 9 x 14 = 126. Write 126
1 4 underneath 135 and subtract it to
work out how many are carried
1 23\ 15 over, which is9.
12 6
0 0 9

!
128 15
2 6
0 099
8

0 1 9 4

|275 0
S—
141
23 15
12 6
0 089
8

55,

Bring a second 0 down from the
hundredths place to make 60. Share
60 into 14 groups. 14 x4 = 5650 put
4 inthe tenths column of the
answer. We only need to calculate 2
decimal places even though we have
a remainder of 6.

146 75

October 07, 2021
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Long division success criteria

1. List the multiples
of the divisorl

1 9
275+ 14 14| 2 7 5 In this cose it is 14. 14| 2 7 5

0

14 | 2 7 5 We cannot share 2 into 14 groups,

——

o

1
14| 7 5

N

—_—

IS

1 3
0 1 9

14|z 7 5
——
14[
123, 15
12 6
0 0 9

so we put a0 above the 2.

Now share 27 into 14 groups. There
would be 1 in each group so place a
1 above the 27. Underneath the 27
write the number that was shared
into a group. (1 x 14 = 14).

ng and therefore carried
ct 14 from 27. This is 13
underneath the 14 as

in column subtraction.
Bring down the 5 ones.

Next share 135 into 14 groups.
There would be 9 in each group
because 9 x 14 = 126. Write 126
underneath 135 and subtract it to
work out how many are carried
over, which is 9.

1x14
2x14
3 x14
4 x14
5x 14
6 x 14
7 x14
8 x 14

14
28
42
56
70
84
98
112

0

i

1 4

18 15
12 6

0 0929

8

55 10
5 6
0 6

October 07, 2021

04 8.2 1

146 75.0 0

13
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Example SATs questions

m A box contains 2.6 kg of washing powder.

washing

powder

2.6kg

Jack uses 65 grams of powder for each wash.

He uses all the powder.

How many washes did Jack do?

October 07, 2021

22

Show

your
method

4 3[645

2 marks

Show
your
method

36

washes

Show
your

97(8827

14
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